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INSTRUCTIONS AND INFORMATION

1. Answer ALL the questions.

2. Answer the paragraph questions in the form of a paragraph.
3. ALL diagrams are included in the QUESTION PAPER

4. Number ALL your answers in the CENTRE of the line.

5. Leave a line between subsections of questions answered.

6. Number the answers correctly according to the numbering system used in this
question paper.

7. Do NOT write in the margins of your ANSWER BOOK.
8. Where possible, illustrate your answers with labelled diagrams.

9. Write clearly and legibly.
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QUESTION 1

1.1

Match the statements in COLUMN A with the options in COLUMN B. Write only the letter
(X or Y) next to the question numbers (1.1.1 to 1.1.8) in the ANSWER BOOK, e.g. 1.1.9

Y.
COLUMN A COLUMN B
1.1.1 | Settlement far from a water source because water is | X wet-point settlement
| a threat Y dry-point settlement
1.1.2 | Type of primary activity dominant in rural areas X mining
Y farming
1.1.3 | The exact piece of land that a settlement is found X site
on. Y settlement
1.1.4 | The movement of people from rural to urban areas X rural-urban migration
Y rural depopulation
1.1.5 | Settlement close to a water source because water is | X wet-point settlement
scarce Y dry-point settlement
1.1.6 | Farmsteads are arranged close to one another. X nucleated
Y dispersed
1.1.7 | The settlement in relation to its surrounding X situation
environment Y site
1.1.8 | Known as a unifunctional settlement X urban settlement

Y rural settlement
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1.2 Refer to the settlement hierarchy in FIGURE 1.2 that shows the classification of different
types of settlements. Choose the correct answer from those given in brackets in the
statements below. Write only the answer next to the question number (1.2.1-1.2.8) in the

ANSWER BOOK.
A
Huge Conurbation Fewest
City
/ Town \
Size of Number of
population Small town settlements

[ Village \ l
/ Harme X
Tiny / Isolated farmstead \ Most

[Adapted from https://wcedonline.westerncape.gov.za/documents/ExamPapers&Memos/Mind the Gap/non
languages/ MTG Geog. ENG.pdf.]

1.21  Settlements in the hierarchy are arranged according to (size/
function).

1.2.2 The number of settlements (increases/ decreases) as you move
up the settlement hierarchy

1.2.3 The size of the population (increases/ decreases) as you move
down the settlement hierarchy.

1.2.4 The relationship between the size of the population and the
number of settlements is {(directly/ indirectly) proportional.

1.2.5 The smallest settlement type in South Africa {conurbation/
isolated farmstead).

1.2.6 Village is a (dense/ loose) grouping of many farmsteads

1.2.7 The largest settlement type in South Africa (conurbation/ city).
(7x1) (7)
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1.3 Refer to the infographic below on rural depopulation

1.3.1

132

1.3.3

1.34
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KEY FINDINGS

+ Nearly 35 percent of rural counties are
35% ! experiencing protracted and significant
:  population loss.

: Depoputation is the result of chronic rural
e®®e.  nddminration. mostly by young adults, which
T ffd contniuies to fewer births. As the sizeable
older populaticn that did not migrate ages in

D pia.  the mortality rate rises.
Rurai le:population s not universal. Some

nra: «reas have experienced significant
popuiation growth for decades.

EET TR Y]

[Adapted from scholars.unh.edu/cai/viewcontent.cai?article=1358&context=carsey]

Define the term rural depopulation

Name one factor from the infographic that may have caused
depopulation.

Outline the social and economic impacts of rural depopulation
on rural areas.

In a paragraph of approximately EIGHT lines, suggest
sustainable strategies that the government could implement to
prevent rural depopulation.

(1x2)

(1x1)

(2x2)

(4x2)
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1.4

Refer to the article below to answer the following questions

Clinics hit hard by water shortages in Nelson Mandela Bay

The Nelson Mandela Bay metro in the Eastern Cape is in the grips of a severe
drought after seven consecutive poor rainy seasons. Some of the metro’s 48
clinics and three referral hospitals have had to close temporarily or shorten their
operating hours.

Speaking to Spotlight on condition of anonymity, a nurse working at a clinic in
Kariega (formerly Uitenhage) says, “The clinic services are constantly disrupted
due to intermittent water supply. Scmetimes we are forced to shut our doors and
attend only to emergencies and distribute medication, leaving patients stranded.
Lack of water creates an unhygienic environment contrary to the Occupational
Health and Safety Act requirements.

ol
The environmentl crisis aggravates hh erum of childhood disease, including allergies, n
heart disease, skin disease, and immune disorders. PHOTO: Black Star Images/Spotlight

1.4.1 Define the concept social injustice. (1x2)
1.4.2 ldentify the type social injustice issue depicted in the case study (1x1)

1.4.3 With reference to the article, provide a reason for water shortages
in rural areas. (1x2)

1.4.4 Provide at ieast TWO strategies the local community members
could implement in order to conserve water. (2x2)

1.4.5 How can the decrease in the availability of water impact farming
in rural areas? (3x2)
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1.5 Refer to the picture below to answer the following questions

3 -

e

]
i

A

Source https://www.farmlandgrab. 0ra/nostf23818 south-africa- Iand reform- cloud cuckoo-land-or- caiculus of-

power

1.5.1  Which pillar of land reform best describes compensating people

for the land they lost due 1o forced removals?

1.5.2 Whatis the aim of land reform?

153 Quote TWO pieces of evidence from the picture above that shows

that people are unhappy with the land reform process.

1.5.4 Provide TWO reasons that could have led to the process of land

reform advancing siowly.

1.5.5 Describe how well-managed land reform could have economic

and social benefits to the people living in the rural areas

Copyright reserved
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(2x1) (2)
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QUESTION 2

2.1 Choose

ONE term/concept for each of the following descriptions provided. Write only the

term/concept next to the question numbers (2.1.1 to 2.1.8) in the ANSWERBOOK, e.g.
2.1.9 Trade and transport town.

214

2.2 Choose
A. Write

A (central place/specialised town) develops due to the occurrence of one
main physical resource.

A (junction town/gap town) develops at major transport intersections

Where goods and services are transferred from one mode of transport to
another (break-of-bulk point/junction town)

(Market place/central place towns) provides goods and services to
surrounding rural areas.

A natural attraction leads to the development of (resort towns/bridge
towns).

Worcester, a {central town /gap town) is located in a mountain pass.
(industrial towns/gateway towns) are mainly concerned with manufacturing.

Trade and transport cities are known for their (location/function).
(8x1) (8)

ONE term/ concept from COLUMN B that matches the descriptions in COLUMN
only the letter (Y or Z) next to the question numbers (2.2.1 to 2.2.7) in the

ANSWERBOOK, e.g. 2.2.8 Y.

COLUMN A COLUMN B
2.2.1 |Increase in the percentage of people living in the | Y Urbanisation
urban areas. Z Depopulation
2.2.2 | The ranking of urban settlements according to Y Urban hierarchy
function, size and complexity. Z Urban blight
2.2.3 | The process whereby an urban area is improved | Y Urban Profile
or rehabilitated Z Urban renewal
2.2.4 | Urban settlements are... Y Multifunctional
Z Unifunctional
2.2.5 | A settlement with a greater range Y Town
Z City
2.2.6 | The speed or pace at which urbanisation occurs | Y level of urbanisation
Z rate of urbanisation
2.2.7 | The process whereby the boundary of a city Y Urban growth
expands and extends in the rural area Z Urban sprawl

(7x1)  (7)
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2.3 Refer to the Sketch below showing a sphere of influence.

A -Town
B - City Sphere of influence
Zone of competition l
— B

[Source: Examiner's sketch]

2.3.1 Define the concept sphere of influence (1x2) (2)
2.3.2 Which one, between A and B offers specialized functions? 1x1) (1)

2.3.3 Provide TWO reasons why B is considered a high order center? (2x2) (4)

2.3.4 Describe ONE characteristic of a low order center. (1x2) (2)
2.3.5 Differentiate between range and threshold population. 2x1) (2)
2.3.6 Explain why the range of low order and high order goods/
services is not the same? (2x2) (4)
(15)
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2.4 Refer to the sketch and photographs showing an urban profile.
Industrial Park A Greenbelt
Low incoms TR Transiion
S S 20ne | Zone Rurahsrban
residential i i A finge
=' Rt . ] i
' - A :_._:_: & atlo “
d- 00 : il 13| r# £ /h i
|_,’_| - | l | Nei_—l ey Ww‘
Industrial Industrial CBD shopping business parks
B cenire 108D
[Source: Examiner's own sketch]
2.4.1 Whatis an urban profile? (1x2) (2)
2.4.2 Give evidence from the sketch above that A is high income
residential area. 1x1) (1)
2.4.3 How has the demand for land influenced the density of buildings
in the CBD? (1x2) (2)
2.4.4 Why are buildings in the transition zone in a dilapidated (poor)
state? (2x2) (4)
2.4.5 Discuss problems experienced in the CBD that may have led to
commercial decentralization in the zone. 3x2) (6)
(15)
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2.5 Refer to the infographic on informal settlements.

SHACKS IN

number of ho.: rolds
I living in shacksn I
backyards in 5A almost

SOUTH AFRICA

m' in shacks in backyards.

Close to 2 million households, or 5 million people,
live in shacks in South Africa. More than 30% live

0 Census classifies informal dwellings
into two categories:

1) Shack in a backyard; or

2) Shack not in a backyard

{Le. in an informal settlement)

2

- 78%

-

4 1 0/ Of households
o living in shacks

in backyards

comprise one

Ig | person only.

S hious e holds living in
- acks o backyards use
. tricy for lighting.

L doubled _I
jm o Of shacks in
17 P 1 8 sags facwyards hove
;gr?n'. ashackind e mi I l 101 O Acceas 1o flush
2 kyard. < todet
. s Children under theay - .+ .- VE
— live in shacks
R193 p/m

to rent a shack in an
informal settlement.

o Of shai=sin
O informal seule-

ments have

Wlf

i * srrans

[Source:https://www.google.com/search?g=infographictshack+dwellers&tbm=isch&ved]]

2.5.1

2.5.2

253

2.5.4

How many children under the age of 18 in South Africa, according
to the infographic, live in shacks? (1x1) (1)

According to the infographic, what are the TWO advantages of
living in a backyard shack compared to an informal settlement? 2x1) (2)

List and explain TWO social issues that developed due to the
growth of informal settlements. (2x2) (4)

In a paragraph of approximately EIGHT lines explain sustainable
measures the government can implement to improve living 4x2) (8)
conditions in informal settlements

(15)

(60)
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